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Fill in the blanks to complete the sentence. Express the following relation as an inequality.
. 5 k,a ] E ) EWwL rd g nn En 3N b B
D 7>6 D X HITARFES ’?:1%0’(%( Nl BlE| x D251 2M2dE6L0DKEN
- I ] 2 times x plus 1 is greater than 6.
® Lz EWVo, 2x+7>6
LY [N - T »ENRD T b B g [y By
@ TEZOL [E i, A SIS HE| x 03P D 1&251< & 580 /hE0
bisns b eoemeeeeooo 3 times x minus 1 is less than 5.
ra by T Wik, @
b5 LE Y I3 boLo mEn T ‘
@ RNEXZRLY LD XLFOH & EWn 9, e - - Py
e L A A | 1000 F o> 35/ T 108 80 0 b 7 U@ 57 0
O RE X o f# TR Z NN e -
CORTADRET NORDL = &8 AHAL D e R 1002 % 5,
| PRGN Pocket mor.1eyis 1000 yen.
ffffffffffffff Pay x manjyu per 80 yen and box 100 yen.
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Write the meaning of the following inequalities. 4. //’;’;@%@ 5% Z_ £ Lé@%% R
No. 5’\ ,%3: ;g %E\i' [ﬁ% Which of the following numbers is the solution to the inequality?
Bk PN nw ey e
o ED XN b | RE D 7 , — 1< 3 DO ) o
FEO| x> 20 X 208K [x %70 20] PUE| 1,2,3055, 20— 1<30fRIEFLAD
x is greater than 20 Which of 1, 2, 3 is the solution for 2 x —1<3?
Hin L5 f— %’ — /= — /=
ol o< X ELD hxis e 5] x=/0kE, 2 x—1=2 X [—]=]
x is less than 20 X =20¢=, 2 x—/=2 X2—]=3
e £ (xR nvcrr—re] X =30LE, 2 x—]=2 X3—1=5
WJ%E@ x=6 x is greater than 6 or equal to 6 boEoLE R
¢ ! x=/ ot REANAILO,
v En X 32& %%< 5 bA LD . nL N
HED| 2< x <5 ’ 510 exin, HE| 2,3,4095b, 2x— 5= 10T END,
x is greater than 2 and less than 5 @
e L;’E/MJ: 3»,4T
B 1=x=3 x is greater than 1 or equal to 1 and
x 1is less than 3 or equal to 3
bhED
Fﬁ E@ x> 2
bhED
1 E@ X = 4
bhED
| E@ 6 <x
bhED n
HE| —1,0,10®956, —3x—1=10OMIXEND,
@
bhED
Fﬁ E@ x <1
bhED
HE®| x =3
bhED
HEO®| 0<x <1
bhED
HMED| 2=x=3
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Fill in the blanks to complete the sentence. Express the following relation as an inequality.
””””””””””” . S :3‘,5@15'5! nn En N [0} A
D 2<8MD LI o TH B BIE| xD2E0H 15250 TH 4B TIZRD,
FoLss magn mob U é&kjté 2 times x minus 1,is less 4 or equal to 4.
NERE R LR e RER LD, 2 x—71<4
BoES o wh E~Aho T wh 5 o b ED N <k BB
@ REZD i 2 E 3, [ SV M| xD3fFIc1z2MadebslhREn
visss s UJ:ZY/\/V 777777777777777777 @ 3 times x plus 1 is greater than 5
GhETE BLv)H,
BoLoLE 7 . ot b v
@ REREZY LT-E D) D VD,
HoLoLx T b AN xh - AT
O AR %X D! T RTRDDHZ L& S| 2000 1o/ E 0 C 1 120 F o b % Ul 55 0
L e @ /\‘k , >
SHoEHLE '
ETT s x 1B & 80 M e 5,
—————————————— Pocket money is 1000 yen.
””””””” | HoLoLE LULAsLHLE :
@ ! 75} 1 OFRER 2 —RRZES L W Pay x manjyu per 80 yen and box 100 yen.
°F u o# bbb rHLE S oEoLE 7
2. RoOEWE R 75K - AEXLrEES R IV,
Write the following equations and inequalities.
a o s. ol b, FEkol s
{5l 8 il ' 0 oy AR S ALR -
o % o Which of the following numbers is the solution to the inequality?
Oxi1e%Lwn (AU)|OxmorsLn —
x is equal to 1 WJ%E 1,2,3@5%, 2x—1<4@ﬁ£6i£j’b73>0
x =7 Which of 1, 2, 3 is the solution for 2 x —1<4
BB BB
@xiT2L0 KEW @xiT9LvREW x=/oesE, 2 x /=2 X]=/=]
x is greater than 2 x=20t%, 2 x—/=2 X2—]=3
x >2
x =30kxE, 2 x—7/=2 X3—/=5%
WwWCxd Wt xd
x X3 E x X 8L gLy R
® 6 - @ A Lot x=1,20L%, REANAN IO,
x is greaterl than 3 or equal to 3
x =3 bAED . i )
= 8| 1,2,309b, 3x— 1= 50fFIZEND,
Dxiida Lo hsun D TEY RS v
x is less than 4
x < 4
AN AN
®xlX5LTF ®xIX6LLT
x 1is less than 5 or equal to 5
x =5
o¥ b oLooLE I 7
3. MOARFEARDODEKREZFE R I,
Write the meaning of the following inequalities.
I HA WD
15 B i &4
%% A
O x<1 (ﬂ%{?ﬁ) DO x>3
B bAEN B
xE7E0 b HE| —1,0,105b, —2x+ 1= 10T LN,
(xis less than 1) @
@ 2<«x @ 3>«
Bk
X322 KEn
( x is greater than 2)
woo
@ x=6 (U\T) @ x=3
xtié&%
PIETISMNIR
v
FrrafLln
( x is greaterl than 3 or equal to 3 )
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/j’( D J‘ D (H‘ %V- VA J: Calculate the following formula.

0 HA WD

151 R il

O 5— 11 =(+5)+(—1)|D 1 — 6
——(77—5) = —b¢

@ —2+6 =(-2+(+6 (@ —2+ 10
—+(6—2) = ¢«

® —7+2 =(C-D+H2 |® —T+5
=—(7—=2) = =5

@ —3-3 =(-3+(-3 |@ —7T—5

—(34+3) = —¢

(%\wgfgﬂé)

Solve the following linear inequality. (Divide by a positive number)

v

b

i il &
DO3x —4<5 Obx —3<7
3x<5+4
3 x <9
3Xx 379738
x <3

©® 4x+5=9
4X=9-5
4 x =4
4x s4=474

x <7

@ 2x+ 3= 11

@ 3x+ 11> 5
3x >5— 11
3 x >—6
3% ©3>-6+3

x >—2

® bs5x+6<1

@®2x+3=-3
2x=2-3-3
2x=—6
2xX 12=-6%2

x =3

@ 4x+5=—7

®4ax —2<—17
4x <—7T+2
4 x <=5
4% 4 <57+ 4

5
x < — 4

® 3x—5<—17

AN U SR VYR VAN

3. /k@ﬁ@jt /I BAFR %;k&);t

Find the magnitude relation of the following formula.

v En b AL
b RE (. ) > (B=4) |8 A=-6)<(4=-—3
L2 Lz Lz Lz
£ [ <>] K L [<>] K
2x A 2%x B 2xA 2xB
76 > &
A2 B+ 2 A+ 3 B+ 3
4 > 2
A X (—3) B X (—3) A X(—1) B X (—1)
—24 < —7/2
A-(—1) B-+(—1) A+ (—3) B-+(—3)
—& < —4
5 T b
4. KOTWRER 2 %7 S0, (0% c#z)
Solve the following linear inequality.(Divide by a negative number)
v En LA ED
i il
O—2x+1>7 O—4x +5=13
—2x>T7—-1
—2 X >6

@ —3x—-1=-13
—3x <—13 +.1

—3x =72

® —bhx—1<—6

x =4
® —6x+5<—7 ® —2x+3<-5
—6x <-7—5
—6x < —72
—6x5(=6)>—12+(—6)
x >2

@ —3x+10=1
—3x21-10

—3x=-9

74\
Qo

@ —4x+9=5

® —4x —15=-3
—4x =31 15
—4 x =72

—4x(—4) =12 = (—4)

I7A\
Qo

® —3x—7=-—1
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1. /j’(@ﬁ@ n+%i%ﬂi_4:

Calculate the following formula.

nwn 7w

HA D

15 B il &
@®3—-9 =(+3)+(-9 |[® 1—9
=—(9—-3) = —¢
@ —2+6 =(-2+(+6 (@ —2+ 10
=+(6—2) = 4
® —13+5 =(-13)+(+5)|@ —5+ 3
=—(73—5) = —¢
@ —5—1 =(5+-1) |@ —7—5
—(5+7) = —¢
2. WO CIRFERAE 72 S\, (F 0% <hiz)
Solve the following linear inequality. (Divide by a positive number)
i L
D4x —3>5 O3x —2>7
4x >5+ 3.
4x >y
1xT4>87 ¢
x >2

©® 5x+3=8
5X=8—3
5x=5
b5Xx:b5=57%5

x =7

@ 4x+ 5= 13

® 3x +1<10
3x < 10— 1
3 x <9
3x £3<9:3

x <3

@ 5x+5< 25

@W2x—83=9
2X=9+3
2x =272
2% £2212% 2

X =6

@ 2x—2=8

®3x+2<7
3x <7=-2
3 x <5
3% +3<5%+3

5
x<3

® 4x+5<6

3.

4.

EWwLxdhiiFw

ROKOK N B 2R D L.
Find the magnitude relation of the following formula.
nwn 7w b
5 R ( )<(B =9 i (A=-3)>(B=—6)
Lz L L L
£ [ <>] K L [<>] K
2x A 2X B 2xA 2xB
/2 < 7§
A—14 B —4 A—2 B—2
2 < 5
A+ (—3) B+ (—3) A+ (—3) B+ (—3)
—2 > —3
AX(—2) BX(—2) AX(—2) BX(—2)
—72 > —7&
KO RARERE M S, (800 % <hi2)
Solve the following linear inequality.(Divide by a negative number)
v bA WD
i il &
O—2x+9>3 O—3x + 13> 4
—2x>329
—2 x >—6

2% (-2 <=6+ (-2)

x <3

® —x—1<-—6

@ —6x+1<—5
—6x <-5-—1
—6x < —6

x >/

® —2x+7<-5

@ —3x —10=—1
—3x=-1+10

—3x =9

74\
Qo

@ —5x—112-1

® —2x+11=3

—2x =311

® —4x+9=1
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1. /k@ﬁ@(;jr% A Calculate the following formula.
foi kg i
@®3—-9 =(+3)+(-9 |[® 1—9
=—(9—-3) = —¢
@ —2+6 =(-2+(+6 (@ —2+ 10
=+(6—2) = 4
® —13+5 =(-13)+(+5)|@ —5+ 3
=—(73—5) = —¢
@ —5—1 =(5+-1) |@ —7—5
—(5+7) = —¢
2. WO CIRFERAE 72 S\, (F 0% <hiz)
Solve the following linear inequality. (Divide by a positive number)
i L
Q4x —7>5 ®2x—1>9
4x>5+ 7
4x>72

dx 41274

x >3

@ 3x+2=38
3x=8—2
3 x=6
3x 23=6%3

x =2

@ 5x+4=09

® bhx +3<—7
5xX <—7=3
5x < —70
5x35<-10%5

x <—2

® 4x+5<—15

@2x —3=-11
2x=-11+3
2x=—¢
2X 522832

x =—4

@ 3x—2=-17

®2x —7<—-2
2x <z 2+t7
2 x <5
20 +2<5%+ 2

5
x<2

® 3x—9<—1

3.

4.

FWLxdhiiFn

ROKOK N B 2R D L.
Find the magnitude relation of the following formula.
nwn 7w b
il (A=-3)<(B=96) |ME A=—49>B=-1.
L2 Lz Lz Lz
£ [ <>] K X < 2V
2x A 2%x B 2xA 2xB
—6 < 72
A—8 B —38 A—2 B—2
—77 < —2
A+ (—3) +=(—3) A+ (—2) B+ (—2)
/ > —2
AX(—2) BX(—2) AX(—2) BX(—2)
—6 > —72
WO RRER A X 7 S0, (Bo% <#i5)
Solve the following linear inequality.(Divide by a negative number)
v bA WD
i il &
O—2x+9>1 O—-3x + 8> 2
—2x>12-9
—2 x >—¢

2x +(—2) < -8+(-2)

x <4

@ —3x—92< 16
—3x <16+ 2

—3 x </

@ —hx—1<9

x> —b
@ —4x+3=-5 ® —3x+5=—17
—4x =-5—3
—4 x =—¢
—4x (4= -6 = (—4)
x =2

@ —5x—11=—1
—5x =—1+ 11

—5x =270

74\
1o

@ —6x — 15=—3

® —2x —13< -3
—2x <—-3+13
—2x <70

—2x + (-2 > 10 +(-2)

x >—5

® —4x+9<-3
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Solve the following linear inequality. (Divide by a positive number)

DAY

/j’( D J‘ D n+ %- VA J: Calculate the following formula.
foil Fi
@®3—-5 =(+3)+(-5 |© 4 —7

——(5—3) = —2
@ —2+5 =(2+(+5 @ —2+ 4

=+ (5—2) = 3
® —3+2 =(-3)+(+2) |@ —5+ 2

——(3—2) = —/
@ —-3—-1 =(3+(-1) |@ —2—4

—(3+7) = —4

(%\wgfgﬂé)

v

il i

HA TN

[ &

ODs5x<x+ 8

DOD7x<3x+ 8

x <2
@5x=2x—6 ® 9x=4x — 10
5x —2x=-6
3 x=—6

@®3x>—-2x+5

3X - 2x>5

5% >5

5x :5>5=5

® 3x=—4x+ 14

x >7
@3x=-x+ 8 ®2x=-—x+12
3x + x =38
1x =6

4x T 4=874

x <2

®—2x>—5x—6
—2Xx +5x >—6
3x>—6
3x ©3>-6%+3

x >—2

® —2x >—7x — 10

3.

=(—3+2)x = —«x
@ —3x —x @ —2x —4x
—(—3—7)x = —4 x
4. ROZKFER £ =T S0, (ho% <hi5)
Solve the following linear inequality. (Divide by a negative number)
o T
151 74 i 74
O®3x=5x+8 D4x=7x + 12
3x —5x=8
—2x=¢
—2X £(-2)= 8 + (-2
x=—4

DAY

/k ) JC DFHE = X, Calculate the following formula.
fpi il
D 3x—5x D 4x—7x
=(3—5)x= —2«x

@ —2x+ 5«x
=(—2+5x= 3 «x

@ —2x+ 4x

® —3x+ 2x

® —bhx+ 2x

@ —3x<-—-2x+ 4

—3Xx £ 2x <4

—x <4

—Xx (1) >4+(-1)

@ —5x<-—-2x+ 6

® x=2x+ 3

@ —3x= x—8
—3X - Xx=-3
—4 x < —¢

x =2

@ —2x=4x — 12

® —4x>2x+ 6

—4X —2X > 6

® —5x>2x + 15
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DAY

/j’( D J‘ D n+ %- VA J: Calculate the following formula.
foil Fi
®2-5 =(+2)+ (-5 |© 2 — 7

——(5—2) = =3
@ —3+5 =(-3)+(+5) |@ —2+4

=+ (5—3) = 2
® —6+2 =(-6+(+2) @ —5+ 2

——(6—2) = —¢4
@ —2—-1 =(2+(-1) |® —3—2

—(2+7) = =3

0. KD FEAE M E S\,

Solve the following linear inequality. (Divide by a positive number)

v

il i

HA TN

[ &

Ds5x>2x+6

5X —2X>6

3 x >6

DO5x >3x+8

2X £2<6+2

x <3

@ 4x<x+ 12

®2x =

2x +3x=-5

—3x — 5

® 3x=—-2x— 15

3x £3=9+3

x <3

@ 5x=—x+ 12

®9x>7x — 6

9X —7X >—6

2x 22>-6%2

x >—3

® 7x>2x — 10

3.

DAY

/k@ﬁ@ HEEZE X, Calculate the following formula.
fpi il
D 2x —5x DO 2x—7x
=(2—5x= —3«x

@ —3x+5x
=(—3+5)x= 2 «x

@ —2x+ 4x

® —6x+ 2x

® —bhx+ 2x

=(—6+2)x = —4x
@ —2x—x @ —3x—2x
=(—2—7)x = —3 x
4. KOSREER M E 7 S\,

Solve the following linear inequality. (Divide by a negative number)

v

il i

HA TN

[ &

O2x>5x+9

2X —5Xx>9

D2x>7x+ 10

® —5x <—38x + 12

—5Xx £ 3x <12

@ —4x<—x+6

® x=3x—6 @ —5x=3x— 10
X-3x=-6
—2x=—6
—2X (22)= -6 (-2)
x =3
@ —bHhx=—-x+4 @ —Tx=-3x+ 12

® —3x>2x + 15
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1. ?k%@%é@%jr%%ﬁi Calculate the following formula. 3. ?E@%é@%jr% L, Calculate the following formula.
foi o ] foi o ]
® 2—-9 =(+2)+(-9 |[® 3 —8 O 2x—9«x ® 3x — 8«x
= —(9—2) = —7 =(2-Nx= —7 x
@ —3+8 =(3+(H+9 |@® —2+ 9 @ —3x+ 8«x @ —2x+ 9«x
=+ (§—3) = 5 =(=3+8x= 5«
@ —7+2 =(-7D++2 |® —5+3 ® —7x+2x ® —5x+ 3x
——(7—2) = —5 —(—7+2)x = —5«x
@ —3—1 =(-3+(-1) |@® —6—1 @ —3x —«x @ —6x— x
=—(3+/7) = —4 =(3-1Nx = —4 x
2. ko R RER AR S, 4. RO TRFHER AR E RS,
Solve the following linear inequality. (Divide by a positive number) Solve the following linear inequality. (Divide by a negative number)
e e o e e o
Bl [t 8 Bl [ &8
O7x=5x+6 D6x=2x+ 12 D2x<7x+ 15 D3x<5x+8
TX - 5X>6 2x - 71X <15
3 x =6 —5 x </5
3x 33>6+3 —5X (25> 15 +(=5)
x =2 x >—3
@4x>x+9 @ 5x>x+ 16 @ —5x>—4x+6 ® —bs5x>—-2x+9
4x - x <9 —bhXx t4x > 6
3 x <9 —x >
3x £3<9+3 X 2 (CD<6 (1)
x <3 x < —6
@3x<—2x — 10 @ 3x<—4x+ 14 @ x=4x — 6 @ x=3x+ 8
3x £ 2x<-10 X —4X=-6
5x<—70 -2 x=—6
X3 5< 1045 —2X 2 (22)= 63 (72)
x < —2 x =3
@2x =—x + 12 @ 3x=—x—8 @ —3x<-—x+38 @ —8x<—b5x+ 12
2% + X = 12 —3x £ X <8
3x2=272 —2x<¢
3x 312+ 3 —2x =(=2> 8:(=2
x =4 x > —4
®9x=5x—8 ® Tx=4x—9 ® —3x>x+ 12 ® —4x>2x+ 12
9x —5x=-8 X X > 12
4 x <—¢ —4x >72
ixa=-8:4 —4x (A< 125 (4
X =—2 x < —3
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Write the meaning of the following inequalities. Graphically solve the following system of inequalities.
av D bA D av D bA D
15 B il & i &
O x<1 Dx<—1 @{x<3 @{xé—l
B x> 1 x=2
X 37&)sn
@ x=5 ( E ) @x= 3 S
o EXAE: oD 1
pdcrdiall) sLe 01 3 «x -10 2 x
ox oL BLOLE  p b
2. WO RSN ANERXDOMEZ KD K, x>/ »ox <3
Find the solution from the following illustrated inequality.
oo o /< x <3
i & 2
x<—1
@ x </ @ x < 4
§§\§\F§§% || I I N @ZZZ
[ [ Y [ [ [ [ [ [ | | | | | | |
0 1 X 0 2 X [ [ [ [ [ [ [
—10 4 x
®x<*2 TrE x>/ 2
or \\\ x </
NN M%;é% \§§§ [ gz
P > i 1 @{xéZ @ [x=-1
—2 0 1 x —10 3 X x>—1 x> 2
® Y2—2 »o x =7 ®
and
—2=x= | | | | | | |
<2*xﬂn | L O O
SR Yt —1o0 2 x -10 2 x
—2 0 1 x 0 3 x x =2
oF wH L& k) LE ne +Fou
3. kO —WAEXD M Z KR X, @{x>3 @{x<2
Tllustrate the solution of the following inequality. x < —1 x> 2
v bA WD
15 B il & /
O xz=2 ©x=1 Loy | ] | [ Y N I
[ [ Y [ [ [ [ [ [ [
—10 1 3 x 0 2 x
<
IR IR \\\ I T I R O B
1 [ [ [ [ [ [ [ [ [ [ [ e
0o 2 «x 01 x Rl
@ x> 1 @ x> =1 ek wH U ,sak,arl,é‘r n b L
5. WO —WAFEXDOEZRD X,
| | | | ’b/ 7 | | | | | | | Graphically solve the following inequalitie.
[ [ Y 1T 1 [ [ [ [ [ [ [ PR T
0 1 x —10 x 151 i
@ x=0 F2iF x=3 (@ x=—-1FF x=1

O x<3FrHiTx<1 DO x=0F~l1Tx>2

] \l\?\l\;\\l

<
X —10 1 X
@ x<0 22> x>-—3 @ x< 2012 x>0 x 0 2 x

x <3

I I I @ x<1F=iFxz=1 @ x<2F=lTx>—1
[ [ | [ | [
0 1 3 X

|
| e
0 1 3 x TTDE
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KOFREROBEZ X7 X0, 4. WOEN.—RAFEXNOMEEZRKD L,
Write the meaning of the following inequalities. Graphically solve the following system of inequalities.
av D bAED av D bA D
15 B i &4 15 B il &
®x=5 O x=3 @{x§4 @{x<3
. KEw x=1 x>0
x5k Ep S
HFE LW
| | | | | | |
@ 0<x<5 @ 1=x=3 1 1 1 1
0 3 x
Bk
xLiOOtV)Kti%
5& A En
0¥ FL BralE  an b /IS x =4
2. ROKRINTARFEXDME KD L,
Find the solution from the following illustrated inequality. @ x<2 @(x=0
vz bA x =4 x> 3
15 B &
| | | | | | | |
[ [ [ [ [ [ [ [
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Graphically solve the following inequalitie.
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Write the meaning of the following inequalities. Graphically solve the following system of inequalities.
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Find the solution from the following illustrated inequality.
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Tllustrate the solution of the following inequality. x < —1 x > 2
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| | | | | | | | | | | | | Graphically solve the following inequalitie.
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Solve the following system of linear equations Solve the following system of linear equations
v En bA D v En LA ED
i il & i il &
M(2x—1<3 (2x —3<5 Mx—2<2x—1<5 |Dx—1<3x+1<4
—x +2<3 —x+1<2 . .
2 x —7<3 &Y x—2<2x—7 &9
2x<3F%1 X —2x<-1+2
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Find the magnitude relation of the following formula. Solve the following linear inequality.
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v En bAED | E E
P o @gji— 3 <7 @Pﬂqi— 1< 8
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DA=2 < (B=6 |®A=1 < (B=23)
L Lz L L 2xX <74+ 3
L [<>] K X | <> 4
24 2B 24 2B 2 x <70
/ < | 72 24+ 2< 102
AX(—1) BX(—1) AX(—2) BX(—2) x <5
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— P P P @ 3x+2>8 @ 2x+5>17
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Solve the following linear inequality.
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® —x>—6 ® —x<-—3 —3x>6
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Find the magnitude relation of the following formula.

0 HA WD
151 RE 1 RE
A=6 < (B=9) A=-3) > (B=-#)
Lx Lx Lx Lx
= <> = = <> =
2%X A 2xX B 2 XA 2 X B
/2 < /8
A—4 B —4 A—2 B —2
2 < 5
A+ (—3) B +~(—3) A+ (—3) B+ (—3)
—2 > —3
AX(—2) BX(—2) AX(—2) BX(—2)
—72 > —78
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Find the solution from the following illustrated inequality.
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Ilustrate the solution of the following inequality.
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Solve the following linear inequality.
foi ]
®2x —3>5 D4x—7>1
2% > 543
2x >¢
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x >4
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Solve the following system of linear equations.
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Find the magnitude relation of the following formula.
av D bAED
i R
DA=9 > (B=6 |OA=2 < ([B=1)
Lz Lz Lz Lz
KX |<>] K KX |[<>] K
2A 2B 2A 2B
Ixs > /2
A—14 B —4 A—14 B—4
5 > 2
AX(—2) BX(—2) AX(—2) BX(—2)
—7& < —/2
@A=-4) > B=-6) |@A=-6) < (B=-3)
L Lx Lx L
KX |<>] K KX |<>] K
3A 3B 2A 2B
—72 > —/&
A+ 4 B+ 4 A+ 6 B+ 6
0 > —2
(=2 +(—2) A= (=3 (=3
2 < 3
@A=4 > B=—4 |®A=-3) < (B=23)
Lz Lz Lz Lz
X |<>] K KX |[<>] K
A—14 B—4 A—6 B—6
0 > —&
AX(—2) BX(—2) AX(—1) BX(—1)
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A (—2) +(—2) A+ (—3) B+ (—3)
—2 < 2
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Solve the following linear inequality.
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Solve the following linear inequality.
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x <2

2x +5<5

®

hx<—3x+ 8
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Find the magnitude relation of the following formula.

v En HA D
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A=-3 < (B=+#) A=4) > (B=-2
Lz Lz L Lz
Y <> = = <> BN
2% A 2x B 2XA 2XB
—6 < 72
A—4 B—14 A—2 B —2
—7 < 2
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7 > -2
AX(—2) BX(—2) AX(—2) BX(—2)
6 > | =72
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Find the solution from the following illustrated inequality.
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Ilustrate the solution of the following linear inequality.
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Solve the following linear inequality.
nwn HA WD
i il &
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Solve the following system of linear equations.
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